Al

4 _ &
3 27
/619 3
27 27
(49 —&  Bb
277 =2y




pef
M2y

(7) Eg 29 Cho (KM ) s

EJ:A‘}'I?
:/6“ 7
=7

(o2 g e

/-\a’-Ez‘/
D01, 0)

@) p(-4,04) B3

[ .- 4a+b
{/‘i“ 3a4b 1--27b
Nt

/]-.—?“

(7) 7ACDE = A CDE x 2
EDE fMadr prys

Y- 2?1*5 REC3 9) 7

1-grh
- 1)

b -7

02 Po.d)

.
7

ALt apPlPistep

/ 7
:—jx'g'x;‘[ 4 L

i T3
RPN Sy
. 13

2



b 44
PE\ 25

(7) A(3,3) & 4=az"171fA

3- 94

-

P

5 A (3,30 Blz-4) ER2BR

l

T 3=36th 3207 p
!‘I_J-f=f20&1\‘p ‘b:,/y
(R {722

. a Vo)
tor Co 270 :Fm?

?—?ﬁﬂﬁ\ﬁ‘} 1 % k%
L hes e AR

B s 2-(-2)2 %
hod pi/re D BR300
0oy pp ol B L

Ba%) Ad% 70 BRI 90 &0 O 4 2
V745, =768
N+ /
B£}§@:<7v‘?f'f’7fﬁ\fé§«5 2:4)4 -
A (»z,z)zfﬁ%@?xﬁbﬁﬁﬂ‘c”% AABC = 4 A BB~ 5 CBb
//lfzrj)_(h‘;b 3-.?—}-[-1),
I R
,,L/,z—c—\a b-%,% - s
_T=--5 /
Yarz £ a0
( ) ¢ N
y. 57 -¢ 2 (-7
C(O‘,,. 'Eé) < ’Eg/"
.
5



